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NDA -1 2025 MATHEMATICS SAMPLE QUESTION PAPER WITH ANSWER
Timing: 150 minutes M.M: 300
INSTRUCTION:-Read questions carefully. For each wrong answer, one-third (0.83) of the marks assigned to that guestion will be

deducted. Each question contains (2.5) marks./dsi #1 &= 9 u¢ 9 TTold Sk @ foru 99 ueH & forw FuiRd siel § 9 ve—fagrE (0.83)
3 Pre U S ud® wed & v (2.5) 3fw fFeilRd &

If sin 2x = n sin 2y then the value of% = (c) 120v/3 (d) 60
i 9. the value of
qﬁ sin2x=nsin2v&_‘ﬁm=$frl'ﬂ = =N
" ) . (1 + cos g) (1 + cos 3?“) (1 + coss?n) (1 + cos%ﬂ/
(a) — (b) —— is
n-T n+T = -
(c) 12 (@ (@) (b) cos
n+1 1-n 1 (d) 1+\/E
] (c) - —
Iftanx = 2then |22+ /a_—b= o, ) vz
0 N &b Na¥b 1 + sin“0 cos“0 4 sin 26 |
(a) 23X (b) 208X 10.If| sin?0 14 cos?0 _ 4sin260 | =0
Sin ZX COS 2X
« Y cosx ( Y sinx sin?0 cos’0  4sin 26—1|
VSITZX n o 41T\/C054X and 0 <0 < E thencos 406 =
the value of cos—.cos=—.cos—is 1 1
= 7 7 i (a) - (b)z
(@) -- (b) -~ V3
81 43 ) — (do
(c)- T ()~ 6 11. the \jalue oftan (cos 3 + tan't 1) is
If sin © and cos 6 are the roots of the equation ' B AN 5 éu
ax?-bx + c = 0, then a, b and c satisfy the relaion (a) - (b) =
/ AfE_sin 0 3R _cos  FHBRYT ax?-bx+c=0F T &, 2 ()3
@ a,b3R cTEY P ¥ Hd_ o Z 7
(2) 28+ b3 £ 2] (b) a2-b2 + 2a¢ = 0 12. 2quﬁ\@ SiI? X-COSX = Ze,ﬁthen the genera%lr solution is /
() a2+ b2+ 2ab =0  (d)a-b%2ac =0 LBsinx-cosx =2, AHFL HHAE I
T 2m 4m 8T . @nm+ (- =+ - (b)nm+ (D™ —+—
the value ofcos;.cosj.cos?.cosTls a3 3 &
@Qnm+ (1T —+— (d) none of these
(a) — (b) 0 75
2 i 13.1f a=2i+3j,b=i+j+ké=2Ai+4j+2k are
(c) —5 (d)- T6 three coterminal edges of parallelepiped of
iftana = l, tan 3 = %. then cos 2a is equal to/ volume chubiC units, then a value of A is/ ?TE’
_1 _1 3=2i+3jb=i+j+ki=2Ai+4j+2k U7 SHS 3Mdd
tlﬁtfma— ,tan 8 J,T‘h cosZaW% — . Tﬁl?[*[ﬁ%?ﬁ? - — %Eﬁ)\ﬁ
(a) sin 2P (b) sin4p g T 5
(c) sin 3B (d) cos 23 (a) 4 (b) 2
The number of values of x in the interval [0,31] ()1 (d) 3
satisfying the equation 2 sin’x + 5sinx-3 = 0 is / 2% 2
- 14. Ifa, b, th t h that
THIBRL 2 sin?x + 5sinx-3 = 0 B TI¥ B A - ?B’ Cffe Br(‘ie "‘?f) OFiS(‘iC B,;j‘_ 0 and
Gi?i?'lﬁ[o,hlﬁx%rntﬁaﬁm% a. [ +c_>+ (cta)+cla+t+ = an
(a) 4 (b) 3 |3l =1.|b| =4,|¢| =8, then|§+b+¢[=0
(1 (d) 2 (a)13 (b) 81
the elevation of an object on a hill is observed ()9 (d) 5
from a certain point in the horizontal plane 15. If the area of the parallelogram with 3 and b as

through its base to be 300. After walking 120
metres towards it on level ground the elevation is
found to be 60°.Then the height of the object (in
metres) is/; U6 UGSl R TH & &I SHaB I9b
YR & 1oy ¥ &fds dd ¥ ue fAfyd fig ¥ 300
Mex ¥ O Bl gHAA SHIA R STBT 3R 120
MR I P 9 HIs 600 Hex U5 ot gl ot a&q
F Has (HieX H) 8
(a) 120

(b) 60+/3

two adjacent sides is 15 sq. units, then the area of

the parallelogram having 33 + 2b and 3 + 3b as
two adjacent sides in sq. units is; af¢ add b &
A YWIIST ard IHIR IgHS P _&Fhd 153 3bls
8.l 33+ 2b AU a+ 3b al MAA YOSl I IHR
Iq4S 1 &A% T s §

(a) 45 (b) 75

(c) 105 (d) 120
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16.

17.

18.

19.

20.

21.

22.

23.

thevectorsa = xi + (x+ 1)j + (x + 2)k
b=(x+3)i+ (x+4)j+ (x+5k
C=x+6)i+x+7)i+ (x+8)k

are coplanar for/ ¥ U gggHddT g

(a) all values of x b)x =0
(A)x>0 (d) none of these
the acute angle between the two lines whose

direction ratios are given by 1+ m-n = 0 and
12 + m?-n? = 0is / 3l ¥@3 & &1 &1 A I
ST fa=M U 1+ m-n = 0dUT 12 + m?-n? = 08

(@) 0 (b) -
(OF (d)=
Equation of the line passing through (1,1,1) and

parallel to the plane 2x + 3y +z+5=0/(1,1,1) ¥
BB ToRA drell 3R JAJA 2x + 3y +z+5 =07
THIGR AT BT GHIBT

x-1 -1 z-1 x-1 -1 z-1
Q=== mZ==r_-=
T Z T -1 T -1
x-1 -1 z-1 x-1 -1 z-1
Q=== ==X
3 Z T 3 T
. X-2 -1 z+2 . .

let _the line -~ = y—b SE = lies in the plane

x+ 3y-az + B = 0. Then (o, B) equals,/ T+ hfom
R =Y =22 qudd x+3y-z+ p=0H RG Bl

5

T (0,f) IR 7,
(a) (6.-17) (b) (-6,7)
(c) (5,-15) (d) (-5,5)

A plane which passes through the point (3,2, 0)

2o -5/ W @ f{ig

T
(3,2,0) 3R W@ _(x-3)/ =2 =L°="2F Gl Rl &
@Qx-y+z=1 b)x+y+z=5
Ax+2y-z=1 (d)2x-y+z=5
Variance of thedata2,4,5,6,8,17is 23.33.
Then variance of 4,8, 10,12, 16, 34 will be/ eI
2,4,5,6,8,17 B1 f&RU 233381 dl 4,8,10,12,16,34

and the line

&1 fa=Rur grm
(a) 23.23 (b) 93.33
(c) 46.66 (d) 48.66

When tested, the lives (in hours) of 5 bulbs were

noted as follows :/ TRI&UI &A W 5 cdl_PHI_Sildd
(gel #) FEER g™ T

1357,1090,1666,1494,1623

The mean deviation (in hours) from their mean

is/ 3% W ¥ Wy foged (@ ®) ®

(a) 178 (b) 179

(c) 220 (d) 356

For the observation 1,2,3,4,5,6,7,8,9,10 If 1 is

added to each number the variance of the number

so obtained is / 3{d@® 1,2,3.4,5,6.7.8.9.10 & faw afe

T T 1 ST oI @ ol UT TRedT bl faeRur &

(a) 6.5 (b) 2.87

(c) 3.87 (d) 8.25

24.

25.

26.

27.

28.

29.

30.

31.

The following information related to a sample of
size 60 : Y x% = 18000, x = 960. The variance
is /60: AHR & TH 97 q Yafd Fofied STHeR

60 : Y x2 = 18000, x = 960. UFRU[ &

(a) 6.63 (b) 16
(c) 22 (d) 44
Coeffieient of variation of two distributions are

50 and 60, and their arithmetic means are 30 and
25 respectively. Difference of their standard
deviation is / @l fqdRul & fI=RUI TUNE 50 3R 603,
JUT IP BT T HH: 30 AR 25 Bl 3P
A% fagad &1 3R §

(@) o (b)1
(c)1.5 (d) 2.5
for teo date sets each of size 5, the variance are

given to be 4 and 5 and the corresponding means
are given to be 2 and 4 respectively. The variance

of the combined data set is / @ $el ¥ & forg,
% ¥ udd b1 MBR 58, R 4 R sfew T @
3R W AW HHR: 2 3R 4 U MU g1 Oy S
Je P faRor §

(a) 6 (b) =
GE (d =
The sum of the square of deviations for 10

observations taken from their mean 50 is 250.
The coefficient of variation is / 10 J&ui & forw
396 W 50 fau U faget & @it &1 anr 250 Bl
fa=RUr @1 Ui B

(a) 10% (b) 40%
(c) 50% (d) none of these
If the points (1, 2) and (3, 4) were to be on the

same side of the line 3x-5y+a = 0 then / ¢ fdg
(1,2) 3R (3,4) W 3x-5y+a=0P TH & AR g
@Q)7<a<11 (b)a=7

(c)a=1 (da<7Z7ora>11

The coordinates of the image of the origin w.r.t
linex+y+1=0are/ ¥ x+y+1=0% Hae H

qd o5 &) 84 & Foxie &

@) (-%,-2 (b) (-2,-2)
\ Z 2]
() (1.1) (d) (-1,-1)

The centroid of a triangle formed by the points
(0,0),(cos B,sinH) and (sin B, - cos ) lies on
theliney = 2x.Then 6 =/ fa=a3ff

(0,0),(cos 8,sinB) dYT (sin B, cos 8) TR Ted BIYA
B Had W y=2xR d g1 99 6=

(a) tan’12 (b) tan-1§

() tan-ﬁ (d) tan"1(-3)

The ratio in which theline3x + 4y + 2 =0
divides the distance between the lines

3x + 4y + 5 = 0and3x + 4y-5 = 0is/

J@ 3x + 4y + 2 =0 A3 3x+ 4y +5 =0 3R 3x + 4y -
si=0$aﬂaﬁaﬁaﬁm&ﬁqﬁrﬁﬁwﬁﬂm‘cﬁ
5
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32.

33.

34.

35.

36.

37.

38.

39.

40.

(a)1:2 (b)3:7
()2:3 (d)2:5

Orthocentre of the triangle formed by the lines
x+y=1andxy = 0is / 33 x+y=13R xy=0
1 fffa By &1 dad= &

(a) (0,0) (b)(0,1)

(c0(@.,0) (d (1.1

The equation of the line perpendicular to

5x - 2y = 7 and passing through the point of
intersection of the lines 2x + 3y = 1 and

3x + 4y = 6is /5x-2y =7 W dddd 3R &l 2x
+3y=17Yl 3x+4y=6P Udwq f6g U IoRA dret
G T GHIBU §
(a)2x + 5y +17
(b) 2x + 5y-17 =
(c)2x-5y +17 =
(d) 2x-5y = 17
If thelines4x + 3y-1 = 0,x-y + 5 = 0Oand

kx + 5y- 3 = 0are concurrent, thenk=/ afd
Y@M 4x+3y-1=0x-y+5=03MR kx+5y-3=0

0

o o |l

gaadf 8 k=
(a)4 (b) 5
() 6 (d) 7

The image of the circle x® + y?-4x+ 6y + 7 = 0
in the x-axis is / 99 x2 4+ y2?-4x+ 6y + 7 = 0 Bl x-3H&

R yfafer 8

(@ x>+ y%-4x+6y+7=0

(b) x? + y?-4x-6y + 7 = 0

(x> +y?+4x-6y+7 =0

(d) none of these

If the circle x? + y?-6x-8y + ¢ = 0 and

x2 + y? = 9 have three common tangents then c
=/ T I x% + y2-6x8y +c =0 3R x2 +y2 =9
T Iyafy e YEm g a@ o=

(a) 18 (b)19

(c) 20 (d) 21

Ify = mx+4isatangenttoy? = 6x,thenm =/

g v = mx + 4,y2 = 6x, P! WA %?‘h m=
(@) ()3

4 YA
@2 ()3

8

Given the ends of latus rectum, the number of
arabolas that can be drawn is / dcq Y&d &

RRI &1 <¥d gU, WA O b+ aid Rl Ht T3

g
(2)0 (b) 1
()2 (>3

The foci of the ellipse 4x? + 3y? = 24 are the
points/ ¥ad 4x? +3y? = 24% BIHY f6g ©
(@) (+2.0) (b) (0, +2+/2)

(c) (0,++/2) (d) (+v2,0)

. . S .3
Equation of the hyperbola with eccentricity > and

fociat (+2,0) is / Scb=adl 3/2 3R BIHT (+2,0)
R ARGy b1 GHHRU 2

41.

42.

43.

44,

45.

46.

47.

x?2 y2 4
(@=-L==
4 5] 9

2 2
(c) X:yj =1
The mean and variance of five observations are
14 and 13.2 respectively. Three of the five

observations are 11, 16 and 20. What are the
other two observations?

Ui YeToN B g 3R YRT BT 14 R 13 & | UE § 9
W V&ToT 11, 16 3R 20 & | =7 &I WeToT RIT 7
(a)8and 15 (b)9 and 14
(c)10and 13 (d)11and 12
Forthedata3.,5,1,6,5,9,5,2,8, 6 the mean,
median and mode are x, y and z respectively.
Which one of the following is correct?

affwst 3,5,1,6,5,9,5,2,8,6 & foy A, Arfeaar iR
IEAD HAL: X, ¥ AR z T | FHfoRad # & d—1 vah
T8 87

@Qx=y#z b)x#y=12z
QOx#+y+2z dx=y=z

The mean of the series X1, X,..., Xn is X. If x5 is
replaced by A , then what is the new mean?

ol X1, X2, Xn BT AT X & I Xp DI gRT UfCRATNUG
o ST B, Q1 ST Ay 9 BT

(d) none of these

(a) Xexp + A (b) Xzt
() i-x:1+}\ (d) nX-X,+A
IfY?_l(Xa-Z) =110,Y" ,(x;-5) = 20, then what is

mean?

It 5‘.?—1(Xi'2) = 110,;:?—1(Xi'5) =20 % Ay

CRIl

(a)11/2 (b)2/11

(c)17/3 (d)17/9

Consider the following statements is respect of the

function f(x) = x+§/ HRME f(x) =x+§%ﬁ RECIR:|

Fafifed sy ® IR &<

1. The local maximum value of f(x) is less than its
local minimum value./ f(x) &1 R _3ifeead dqH
ITb WFG JAdH AH d BH g

2. The local maximum value of f(x) occurs at x =1./
f(x) BT AT HUHdH A x =1 TR Bial gl

Which of the above statements is/are correct?

SWH Hu # A HF 94 98 8/

(a) 1 only (b) Both 1 and 2

(c) 2 only (d) Neither 1 nor 2

What is the maximum area of rectangle that can be

inscribed in a circle of radius 2 units?/ 2 s&T1s =

CUSIIC SR IR T 11 O =k O (< R | 2 S -

AfYFHAH &Thd T 82

(a) 4 square units

(c) 8 square units

(b) 6 square units
(d) 16 square units

what is [ —— equal to?/ [—%_ frad SRR 22
T X(X2F1) X(X*F1)
2 2
@2 (=) +C () In (=) +c¢
pA \X2+l/ \X ';l/1
©3m (X)) 4+ C @im () 4+ ¢
pA \ X 7 yA \ X J
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48. What is the derivative of e®” with respect to eX?/
P FoH H e B I HT 82
(a) e (b) e
(c) e®" X (d) ee*

49. What is the condition that f(x) = x3 + x* + kx has
no local extremum?/ 98 d &1 8 & f(x)=x3 +
X% + kx P Bl WG IRA &t 82
)4k <1 (b)3k>1
() 3k<1 (d)3k<1

50. If £(x) = 2* then whatis [, =) dx equal to?/ af

ff(x) = 2%dl fjo%dxﬁo—@s TWR_8?

(A)41In2 (b) In 4

(c)In5 (d)8In2
Consider the following for the next three (03) items that
follow:/ 3Tl @ (03)Hel & fou fFofaRed ® faar
Let f(x) = Pe* + Qe?* 4+ Re3*, where P, Q, R are real
numbers, Further f(0) = 6,f (In3) = 282 and

fuln 2 f(x)dx =11

51. What is the value of Q?/ Q &1 HH &I 8?2
(a) 1 (b) 2
(c)3 (d) 4

52. What is the value of R?/ R &1 AF &I 8?2
() 1 (b) 2
(c)3 (d) 4

53. What is f'(0) equal to?/ f'(0)Hd IR &2
(a) 18 (b) 16
(c) 15 (d) 14

consider the following for the next two (02) items that
;%Ilow:/ 3T & (02) 3M3cHl & fou Fofoed R AR
Suppose E is the differential equation representing
family of curves y? = 2cx + 2cv/c where c is a positive
parameter./ A TRT EdHl & URAR y? = 2cx + 2¢y/c Bl
yfAffda A ardl 3R THIIRU § T8l ¢ U IHRIAD
MR gl
54. What is the order of the differential equation ?/ 3icR
THHRU BT HH HT 872
@1 (b) 3
(c)2 (d) 4
55. What is the degree of the differential equation?/
3D FHIPIU Pt °UId T 82

(a) 2 (b) 3
(c)4 (d) None of these

56. if [, f(x)dx = k, then [0|f(x)|dx, is/ a2 [2fGdx=
kal [2lfG)ldx, §

(a) Less than k /k ¥ &9
(b) greater than k /k ¥ §ST
() less than or equal to K /k ¥ &H T SRI&R
(d) greater than or equal to k /k ¥ §8T 91 RIER

57. if the function f(x) = x?-kx is monotonically
increasing in the interval (1, «), then which one of
the the following is correct?/ afd HaRM f(x) = x?-kx

58.

59.

60.

61.

62.

63.

64.

65.

R (1.00) H THRWI 9 @ o, dl Fafeiad #

DI Iq1 T 72

@k<2 b)2<k<3
C)3<k<4 A k<4

What is the area bounded by v = [x], where [.], is

the greatest integer function, the x-axis and the lines
x=-15andx=-182y=[x] ¥ R &3 F &, F&I
(.1, 969 ¥81 YU ThaRM, x-31&f 3R W@ x = -1.5
3R x=-1.88?

(a) 0.3 square unit (b) 0.4 square unit

(c) 0.6 square unit (d) 0.8 square unit

A radioactive substance decays at a rate proportional
to the anount of substance present, if half of the
substance decays in 100 years, then what is the
decay constant (proportionality constant)?/ U&
et v g SufR@ uerd @ d9mn &
TR X ¥ & Bldl 8, dfe gerl &1 Sfem UM 100
N A &9 B W 8, O &9 fRRG (SMufdedr

RRi®) w1 &2
(a) (D) =2

In 10 2In 2

n n
(C) 100 (d) 100
What is the domain of the function f(x) =
V/l-(x—l)z?/ e Vll-(x-1)2$r S T 2
(@) (0,1) (b) [-1,1]
(c)(0,2) (d) [0, 2]
The area of the region bounded by the parabola

y2 = 4kx, where k > 0 and its latus rectum is 24
square units. / TRA y? = 4kx, &I k>08 qUT 3B
TMYYdeA 3.2 R &7 &1 &a%hd 24T 3o &l
What is the value of k 2/ KT 9H &1 8?2

@1 (b) 2

(c)3 (d) 4

What is [+ —2

i dx
_equal to 2/ [+

0 (SINX+C05X) 0 (sinX+CcosX)%
frads TR 72
(a) - (b)>
2 2
()1 (d) 2

What is [ (sinx) /2 (cosx)3/2 dx equal

t0? [(sinx)/? (cos x)3/2 dx _fhgd SRISR &2

(a)Vtanx + ¢ (b) 2v/tanx + ¢

(c) Veotx+ ¢ (d)v2tanx + ¢

1 = [ and 1, = [ then what is I, + I,
eXfex CIRFT

equal to ?/ A& 1, = [THaR I, = [_2@ 1+,

fhdd SRR 52

@3> +c

() In (ex + e'X) +c

(b)x+c
(d) In (ex-e'x\ +c
N\ V4

What is f_‘;;—idx equal to ?/Tf¢ ['I%dxw IR

g2
(a) -2 (b) -1
(c)1 (d)2
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66. How many extreme values does sin 4x + 2x, where
0<x< Ehave?/sin4x+2x,G|3T 0 <x<§%,$ o
wRA 941 é’?

@1 (b) 2
(c) 4 (d) 8

67. What is the maximum value of the function f(x) =
——  where0 < x < Z?/f(x) = — =
Tan X+Ccotx 2

S % \—ﬂgﬁ[’ 0<X<§? TanX+cotxX
(a) (b) 3
(c)1 (d)

68. If xYx* = 1, then what is % at (1, 1) equal to?/ afg
WxX =18 (1, 1) W dy/dx [FIP TR 7?2
(a) -1 ()0
(€)1 (d)4

69. If y = (x*)*, then what is the value of % atx =12/
e y= x)5@ x=1WR dy/dx HT AF T 82
(a)5 (b)1
(c)2 (d)4

70. Lety =[x+ 1],-4 < x < -3 where [.] is the greatest
integer function. What is the derivative of y with
respect to x at x = -3.5?/ AM WIS y = [x+1],-4 <
x<-3 9@l [.] o9 d81 YU HaRH 8l x = -3.5 |
xP U y Bl gUI a4l 82
(a) -4 (b) -3.5
(c)-3 (d)0

71. If % = (In 5)y with y(0) = In 5, then what is y(1)
equal to?/ & & = (In5)y TUT y(0)=In 5. A y(1)

fha®s SRR 82

(@0 ()5

(c) 21In5 (d)51n5
72. What is lim,_,, x3(cosec x)? equal to?/

lim,_, x3(cosec x)2 fpgPp SReR_T?

(a) 0 (b) 3

()1 (d) Limit does not exits
73. What is lim,_, % equal to?/ lim, ., %W IR

2

@ao (b) 3

(c) 6 (d) Limit does not exits
74. In which one of the following intervals is the

function f(x) = %377,(2 + 6x + 5 decreasing?/

Fofafed # & e sidwd § e o =221

6x+5 9T IET 82

(@) (-0,1) only (b) (1 ,6)

(c) (6,) only (d) (-90,1) U (6,0)
75. If the derivative of the function f(x) = % +2nx+1

vanishes at x = 2, then what is the value of m + 8n?/

e B f(x) = = + 2nx+ 1 BT FAA x=2 R Jd &

ST 8, m+8n I AF &1 82

(@) -2

(b) 0
(c) 2
(d) cannot be determined due ot insufficient data/
AU ST & HRU [YiRa T8 fFur s g

76. what is the area included in the first quadrant
between the curves y = x and y = x3?/ 9% y=x 3R
y=x3>% o yuyq Tqufy & aftifera & @ ®2

(a) § square unit (b) % square unit

(d) 1 square unit

(c) % square unit

77. What does the equation x%-zv = 0 represent?/
TR X%-ZV:O T Tqiar 82
(a) A family of straight lines
(b) A family of circles
(c) A family of parabolas
(d) A family of ellipse
consider the following for the next two (02) items that
;glow:/ 3T @l (02) 3MeeHl & fou Fgfafed R faaR
Let f(x) = sin[m?]x + cos|-m?|x where [] is a greatest
integer function
A9 o f& f(x) = sin[n?]x + Cos[-ﬂz]x\_rlﬁ [.] Th Fad FSI
[P haRM

78. What isf(g) equal to?/ e f(E)W RG]
BRI?
(@) -1 (b) 0

1

()1 (0] =

V2

79. What if £ (%) equal t0?/ R f(%)arr & & @
g

(a) - = (b) -1
A
(€)1 (d) =
V2
|1 a b
80. InaAABC,if |1 ¢ al =0,then
|1 b c|
sin®A + sin?B + sin?C is
@38 (b) 2
pA 4
(c)2 (d) 2

81. two aeroplanes | and Il bomb a target in succession.
The probabilities of | and Il scoring a hit correctly
are 0.3 and 0.2 respectively. The second plane will
bomb only if the first misses the target. The
probability that the target is hit by second plane is /
3l fAHM 1 3R 11 TR U 88 W FHIR! &d gl |
AR 1R T8l Wi I Be oA B JUGAN B
0.3 3R 028l W A qf sHe’ B S TR
o dg ¥ g% S gk fauE gR1 deg R fee
29 P "uET §

(@)0.2 (b) 0.7
(c) 0.06 (d) 0.14

82. The probalility that a leap year selected random

contains either 53 Sundays or 53 Mondays, is /
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83.

84.

85.

86.

87.

88.

JRef®® 0 § JafHd g gy & 53(qarR a1 53
YHIR B @I Ufiskhdr 8-

(2) 2 ()2

()2 (d) =

If the letters of the word KRISNA are arranged in all
possible ways and these words are written out as in a
dictionary, then the rank of the word KRISNA is/
gfe Wed KRISNA & 3Rl & 9t ¥4d &l I
AR forar SN 3R 39 Weal $l YD & AR
foRaT ST, @ e KRISNA BT RIH 8

(a) 324 (b) 341

(c) 359 (d) none of these

sinx + i cos 2x and cos x-i sin 2x are conjugate to
each other for /sinx + i cos 2x \33? cos x-i sin 2x Tdh ﬁb{

& o dged ¢

(@) x = nm () x=(n+2)Z
C)x=0 (d) No value of x

If the letters of the word “MISSISSIPPI” are written
down at random, in a row the probability that no two
‘S’ occur together is / Tf¢ Tsq “MISSISSIPPI” &
3eRl B JRfwd ©0 ¥ UH Ufed # forar S ot a
PO 13 e O s 1 | L 2 B

(@)= (b) =
33 35
(c) % (d) none of these

Let A be a matrix of order 3 x 3 and |A| = 4. If

|2 adj (3A)] = 2*3B, then what is the value of

(a+ B)? /A HIT A 3x3HH P U Mg 8 3R

€:4 81 A |2 adj (3A)|=23P &, W (o + B) BT HH I
2

(a) 12 (b) 13

(c) 17 (d) 24

The number of ways in which the letters of the word
‘CONSTANT’ can be arranged without changing the

relative positions of the vowels and consonants is /

W R ot »l goy R # uRadd feu fomr

TG 'CONSTANT’ & 3HeRi Bl HARYd IA &b dxle!

P TG B
(a) 360 (b0 256
(c) 444 (d) none of these

If the equation x? + 2x + 3A = 0 and 2x% + 3x +
5A = 0 have a non-zero common roots then A =/

e B x2 + 2x+ 34 =0 3R 2x% + 3x+ 50 = 0 Bl
YRR IHAFRY T 7l dl A=
(@)1

(c)3

(b) -1
(d) none of these

89. A natural numbers is chosen at random from the first

90.

100 natural numbers. The probability that x +

100/x > 50, is/ Ugd 100 Uidhfas Temsl & ¥ U

Ulpfa T Uefese =0 ¥ T Wt Bl +ﬂ>

5089 @t SuE @
(a) 1/10 (b) 11/50
(c) 11/20 (d) none of these

The sum of the series 12 + 3> + 5%+ .... to n terms is
| $Rael 12+32+5%+ ... Pl nUal do TN §

91.

92.

93.

94.

95.

96.

97.

98.

n(n+1)(2n+1) n(2n-1)(2n+1)
() T (b) B

(©) (n-1) t(J2n+ 1)

(d) (2n+1)3
3

The value of the determinant of a matrix A of order
3.is 3. If C is the matrix of cofactors of the matrix A,
then what is the value of determinant of C*?/ %4 3
I U 3Mgg AP IRMIG &1 HH 381 TfE C AR
AT UEHRSBI &1 Mg 8, dl C2FH IRMIG HI TH

&2

(@) 3 ()9

(c) 81 (d) 729
sinx cosx tanx

If f(x) = | x? | then lim,._ o -is
l2x 1 1 *

(@3 (b) -1

()0 (d) 1

The area of the triangle on the complex plane

formed by the complex numbers z, -izand z + iz is /
Sfed B3l z, -iz 3R z+iz gRT Sfed dd WR &MU T
BYs &1 &7%d 7

(a) |z|? (b) |Z|?
(c) % |z|? (d) none of these
The vector represented by the complex number 2-i is

rotated about the origin through an angle g in the

clockwise direction, the new position of point is /
Ry Tem 2-i g1 Fefid 3t & g o &
T w2 P R CfEomad fomm # gHmn Sar g, fig
Pt T3 ufd 3

()1 + 2i (b) -1-2i
) 2+i (d) -1 + 2i
The set of all values of m for which both the roots of

the equation x*-(m + 1)x + m + 4 = 0 are real and
negative, is/m®& 39 Tt AF &1 I=w e g
JHIBN x%-(m+ Dx+m+4 =0 F &l Hd dRdAD

IR BUES .2

(@) (-0,-3] U [5,00) (b) [-3.5]

(c) (-4,-3] (d) (-3.1]

If in the expansion of (a+ b)™ and (a + b)™*3, the
ratio of the coefficients of second and third terms,
and third and fourth terms respectively are equal,
then n is/ IR (a+b)" 3R (a+b)"*3, F @R H
PAM TR R AW Ul qur R SR AN uef &
Ulieh] bl UM sRTeR &, nd

(a) 3 (b) 4

(c)5 (d) 6

If sets A and B are defined as A = {(x, y):y =
i,x ER+ 0},B = {(x.y):y = -x,x € R}, the

QA NB=A (b)ANB=B
(c)AnNB=o (MDA UB=A
The number of ways in which a host lady can invite

for a party of 8 out of 12 people of whom two do not
want to attend the party together is / Ts ASEH
ofger w2 @ H ¥ s @l & Ul & fou emid
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PR P U fba il &1 ST PRIt g, FoH
Y 3 A ve 9 Ul § e T8 e ded g2
(a) 2 X 1101 + lOCE (b) llCz + llCZ
(c) Cq - °Cq (d) none of these

99. The first three of four given numbers are in G.P.
and their last three are in A.P. with common
difference 6. If first fourth numbers are equal, then
the first number is / & 73 IR Temet #§ ¥ Ugd
i Jom TR goft 7§ iR It sifqw d=
T TR 90 § € oFer 9" iR 6 31 afe
Ugell Ol Tt SRIeR €, dl Ugcl S8 R’ 82

(a) 2 (b)4
(c) 6 (d) 8
[2 -1 0]
100. IfA= 14 3 gl then whatis the value of
1 0 1
det[adj(adjA)]?
(a) 5 (b) 25
(c) 125 (d) 625

101. The number of 5-digit telephone numbers having at
least one of their digits repeated is / 5 3i®i ad
THHE TRl P He, e ¥ 9 ¥ $9 IS 3@

GG T ©.®
() 90,000 (b) 10,000
(c) 30240 (d) 69760

102. The number of ways in which we can choose a
committee from four men and six women so that
the committee includes at least two man and
exactly twice as many women as men, is / IR S8
3R Bg HAfcenstt § ¥ Ue WA g4 & T ali!
P GO 39 UPR g [ Il § o9 ¥ HH o
Y 3R YBEl B qadl A g Wem # AR
A g
(@) 94 (b) 126
(c) 128 (d) none of these

103. If the system of linear equations/ af¢ &%
HIHUN ®I guret

x+2ay+az=0
x+3by+bz=20
Xx+4cy+cz=0
has a non-zero solution, then a, b, ¢/ IR _BH &,
@ a b, c
(a) satisfya+2b+3c=0
(b) are in A.P.
(c) are in G.P.
(d) are in H.P.
a b c
104. If A=1|d e f| then what is
|g h il
|3d +5g 4a+7g 6g
I

3e4+5h 4b 4+ 7h 6h|equal to?

3f+5i 4c+7i 6il
(a) A (b) 7A
(c) 72A (d) -72A

105. If x, 2y, 3z are in A.P., where the distinct numbers
X, V, z are in G.P., then the common ratio of the

GP. is / gfe x, 2y, 3z gHIAR_ o) & B Wil fi
T x, v, z TONRR_Joft & & @ quiR 9ot &1 9rd
SUTd T BT

(2) 3 (b) =

3
1

(c) 2 (d) >

106. Theset (AUB UC)N(ANB NnC)' UC isequal
to
(@B NnC (O ANC
(c)Buc (MANC

107.

Given 5 different green dyes, four different blue
dyes and three different red dyes, the number of
combinations of dyes which can be chosen taking at
least one green and one blue dye is / 5 3-8
M, IR -3 A T 3R A -3 AT
T U U B TN % IR @l Wem O wH 9§
PH Th 8 3R TP Al TN AP g1 o Fobal ©
(a) 3600 (b) 3720

(c) 3800 (d) 3600

108.

If the first term of a G.P. a; , @, &, .... is unity such
that 4a, + 5a; is least, then the common ratio of
G.P.is/ 3fe fHd R AR a, a5, a5, ... BT UYH
US Uehdl 39 UPR B fP 4a, + 5a, FAGH &, At TUIRR
9ult BT Ud U T BT

(a)-= (b) -2

(c) % (d) none of these

1009.

five horses are in a race. Mr. A selects two of the
horses at random and bets on them. The probability
that Mr. A selected the winning horse is / dfa_#s
e A B Mr.A T diel &) Urf®e ®U A g o
R 1 R cid @ 8l M T gRI fasar "@er @A
M Pl HET &

4

(a) 2 (b) <

110.

()2 (d) 5

If the sum of odd numbered terms and the sum of
even numbered terms in the expansion of (x + a)"
are A and B respectively, then the value of
(x2-a2)" is /| AR x+a H RRAR H fwm www
I el P I IR A TN 9 TUal I AN
AN AR BR, A (x2-a2) &I AM &I 82

(a) A%2-B2 (b) A% + B?

(c) 4 AB (d) None of these

111.

Ifa, b, carein G.P. and x, y are AM’s between a, b

and b,c respectively, then / af¢ a, b, c TOIRR_guft &
T dUT x, yPU: a, bddl b,cP o JAIR fog &

112.

(@)t =2 OEEEEE
Qit-=2 d+-=2
Xy a X y D

An__investigator _interviewed 100 students to
determine the performance of three drinks milk,
coffee and tea. The investigator reported that 10
students take all three drinks milk, coffee and tea;
20 students take milk and coffee; 25 students take
milk and tea; 20 students take coffee and tea; 12
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studetns take milk only; 5 students take coffee only
and 8 studetns take tea only. Then the number of
students who did not take any of three drinks is /
TS 3AYF A a9 U9 gY, BB R AT P U
P [AUiRd HA & w100 SET H1 AeTHRfer)
3Y® A ga & 10 @ A 0O gY, HIwr SR
I dd 8 20 BF g 3R BBl dAd ©: 25 BE qY
R T TAd €, 20 BH BBl AR AW dd ®; 12 BH
Waﬂéﬁ%swmaﬂvﬁéﬁ%ﬁ?sw

E N | RN A | e B 1 | B 0 s 12 R s s B
W H 9 o ot 98t form
(a) 10 (b) 20
(c) 25 (d) 30
113. The system of equation / FHI&HUT &1 HOMe
2x+y-3z=5
3x-2y + 2z = 5 and
5x-3y-z = 16

(a) is inconsistent / 3RATT 8
(b) is consistent, with a unique solution /I7Td 8, T&
Sfgea gAY & WY
(c) is consistent, with infinitely many solutions/3fd
8,90 U q P THIUEl $ 9y
(d) has its solution lying along x-axis in three
dimensional space./ $9®1 UM 3 3idiNe Smami-
Ax-3181 P T RG Bl

114. If a+ b+ c =4 and ab + bc + ca = 0, then what
is the value of the following determinant?/ 3afg
a+tb+c=4 dY ab+bc+ca=0 a il ﬁ"ﬂﬁl’@ﬁ
IRMB BT HH R 82

‘a b C‘

c a b
(a) 32 (b) -64
(c) -128 (d) 64

115. A relation R is defined from {2,3,4,5} to
{3,6,7,101 by : x Ry & x is relatively prime to v.
(@) {2,3,5} (b) {3,5}

(c){2,3,4} (d){2,3,4,5}

116. What is the number of different matrices, each
having 4 entries that can be formed using 1, 2, 3, 4
(repetition is allowed)?/ Rftrer AT &t I=m @&
o ¥ ude o 4vufafdal § 5% 1.2, 3,4 (GRIgR
B A B) BT IUANT PHIb SR Sl Hebl o2
(a) 72 (b) 216
(c) 254 (d) 768

117. Ris a relation from {11,12,13}t0 {8,10,12}

defined by y = x-3. Then, R'! is
(@) {(8,11),(10,13)}
(b) {(11,8),(13,10)}
(c) {(10,13),(8,11),(12,10)}
(d) none of these

118. A five digit number if formed by writing the digits
1,2,3,45 in a random order without repetitions.
Then, the probability that the number is dividible
by 4 is /| T’ 12345 3idl & 1 qevd &

Jefse HH H forRae: Ui 3fd! Bl T §915 ST,

q W & 4 AU 89 P GHIEAT F1 g
(a)2 (b) 2

119.

120.

(c)z (d) 2
If the sum of the binomial coeffieients of the

n
expansion ( 2X + 3\ is equal to 256, then the term

mdependent OfXIS/ gfe fawrR (2x+—\ ¥ fgue
Uit 1 AT 256 % R .4 x ¥ W Ug 2
(a) 1120 (b) 1020

(c) 512 (d) none of these

If o, B are the roots of the equation x> + px + 1 =
0; v, & the roots of the equation x> + gx + 1 = 0,
then (a-v)(o& + 8)(B + 8) =/ 3¢ o, B THIHRU

X2+ px+1=0; BTy, THRI B IS

x>+ qx+1=0, R (a-y)(a+8)(B+8) =

(C) pz + gz
(d) None of these/sTH ¥ 1 &t
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